WINDOW SHROUDS

Contents:

1.01 Profile and Bracket Options

2.01 RMC Bracket (Option 1)

2.02 Angle Bracket (Option 2)

2.03 Custom Shroud shapes

3.01 Detail - Vertical Cladding - RMC Bracket (Option 1)

3.02 Detail - Vertical Cladding - Angle Bracket (Option 2)

3.03 Detail - Weatherboard Cladding - RMC Bracket (Option 1)
3.04 Detail - Weatherboard Cladding - Angle Bracket (Option 2)
3.05 Detail - Brick Cladding - RMC Bracket (Option 1)

3.06 Detail - Brick Cladding - Angle Bracket (Option 2)

3.07 Detail - Metal Cladding - RMC Bracket (Option 1)

3.08 Detail - Metal Cladding - Angle Bracket (Option 2)

3.09 Detail - Concrete Wall - RMC Bracket (Option 1)

3.10 Detail - Concrete Wall - Angle Bracket (Option 2)

AURAE

Making houses look good.




PROFILE & BRACKET OPTIONS

SHROUD PROFILE OPTIONS

Il || SOLARIS 200x20mm

Il || SOLARIS 250x20mm

I || SOLARIS 300x20mm

Il || SOLARIS 450x20mm

A ,5] SOLARIS 125x50mm

b .| SOLARIS 150S

b
S

s| SOLARIS 200S

o

L ,s| SOLARIS 250S
oV E"‘L v
e i 3| SOLARIS 300x50
W w2 v w2
L | ‘rf s| SOLARIS 350x50
o ™ l OB 1 v
& 3 s .| SOLARIS 450x50
BRACKET OPTIONS
FOLDED REAR MOUNT CHANNEL BRACKET
~ Suitable for Solaris 200x20mm, Solaris 250x20mm,Solaris 300x20mm and
Solaris 450x20mm.
REAR MOUNT CHANNEL BRACKET
o Suitable for Solaris 125x50mm,Solaris 150x50mm, Solaris 200x50mm, Solaris
250x50mm,Solaris 300x50mm, solaris 350x50mm and Solaris 450x50mm.
-‘ FOLDED REAR MOUNT CHANNEL BRACKET
] Suitable for all the shroud profiles.
VARIES
Ph: 09 972 2897 WINDOW SHROUD
E: sales@aurae.co.nz iect- ifi i
@ Contéct Aur_ae for project SPECIflC ad\{lce. PROFILE & BRACKET OPTIONS
A W: www.aurae.co.nz Details subject to change without notice.
Making houses ook goo.  ©2018 Alll rights reserved SHEET NO: 1.01




RMC BRACKET (OPTION 1)

MAX 6500mm

ELEVATION
SCALE: 1:25@A4

MAX 4000mm

[=——REAR MOUNT CHANNEL
BRACKET

[~—SELECTED SHROUD
PROFILE

=

~— REAR MOUNT

CHANNEL BRACKET
IS
£
S
S
S
3%
>
<
=
— SELECTED SHROUD
PROFILE
£
1S
[}
S
S
3%
x
<
=

200

SIDE VIEW

SCALE: 1:25@A4

| [~ SELECTED SHROUD PROFILE

AURA

Making houses look good.

REAR MOUNT CHANNEL
I BRACKET
PLAN
SCALE: 1:25@A4
50 | 34
\/\ SELECTED SHROUD PROFILE
M6 CSK SCREWS
<
<
- —— STAKING BRACKET
S
DETAIL 01 3D VIEW
SCALE: 1:5@A4 SCALE: N.T.S.
Ph: 09 972 2897 WINDOW SHROUD

E: sales@aurae.co.nz
W: www.aurae.co.nz
©2018 All rights reserved

Contact Aurae for project-specific advice.
Details subject to change without notice.

PRODUCT DETAILS

SHEET NO:

2.01




ANGLE BRACKET (OPTION 2)

MAX 6500MM

[—=——5mm ANGLE BRACKET ]

SELECTED SHROUD
PROFILE

[~——SELECTED SHROUD PROFILE

B
ELEVATION
SCALE: 1:25@A4
MAX 4000MM
|
PLAN

SCALE: 1:25@A4

5mm ANGLE BRACKET

IE

—

!7 |
MAX 2000MM 200

PROFILE

MAX 2000MM

200

SIDE VIEW

SCALE: 1:25@A4

~~— 5mm ANGLE BRACKET

— SELECTED SHROUD

50 | 34
\/\ SELECTED SHROUD PROFILE
M6 CSK SCREWS
<
<
- —— STAKING BRACKET
S
DETAIL 01 3D VIEW
SCALE: 1:5@A4 SCALE: N.T.S.
Ph: 09 972 2897 WINDOW SHROUD

E: sales@aurae.co.nz
AU RAE W: www.aurae.co.nz
Making houses look good. ©2018 All rights reserved

Contact Aurae for project-specific advice.
Details subject to change without notice.

PRODUCT DETAIL

SHEET NO:

2.02




CUSTOM SHROUD SHAPES

AN

CORNER WINDOW SHROUD - 3D VIEW 3 SIDED WINDOW SHROUD - 3D VIEW
SCALE: N.T.S. SCALE: N.T.S.
WINDOW SHROUD WITH LOUVERS - 3D VIEW 2 SIDED WINDOW SHROUD - 3D VIEW
SCALE: N.T.S. SCALE: N.T.S.

Ph: 09 972 2897 W|NDOW SHROUD

E: sales@aurae.co.nz Contact Aurae for project-specific advice. CUSTOM SHROUD SHAPES

W: www.aurae.co.nz Details subject to change without notice.
Ayg%ng ©2018 All rights reserved SHEET NO: 2.03




VERTICAL CLADDING - RMC BRACKET (oPTION 1)

SOLID TIMBER

(BY OTHERS)

>/— BATTEN
(BY OTHERS)

(BY OTHERS)

\é

VERTICAL CLADDING

DETAIL 01 (Plan View)

SCALE: 1:5@A4

VERTICAL CLADDING

| ~——— EPDM WASHER

S~ 14g S5 TEK SCREWS

S~ REAR MOUNT CHANNEL BRACKET
10g SS SCREWS EACH SIDE

SELECTED SHROUD PROFILE

(BY OTHERS)

SELECTED SHROUD PROFILE

14g SS TEK SCREW

EPDM WASHER

REAR MOUNT CHANNEL BRACKET
10g SS SCREWS EACH SIDE

BATTENS
(BY OTHERS)

SOLID TIMBER
(BY OTHERS)

DETAIL 02 (Side View)

SCALE: 1:5@A4

Ph: 09 972 2897
E: sales@aurae.co.nz
AU RAE W: www.aurae.co.nz
Making houses look good. ©2018 All rights reserved

Contact Aurae for project-specific advice.
Details subject to change without notice.

WINDOW SHROUD
FIXING DETAIL
SHEET NO: 3.01




VERTICAL CLADDING - ANGLE BRACKET (OPTION 2)

SOLID TIMBER
(BY OTHERS)

>/— BATTEN
(BY OTHERS)

VERTICAL CLADDING
(BY OTHERS)

\\ EPDM WASHER

[~~——— 5mm ANGLE BRACKET

[~~——— M6 CSK SCREWS

SELECTED SHROUD PROFILE

VERTICAL CLADDING

DETAIL 01 (Plan View)

SCALE: 1:5@A4

(BY OTHERS)

SELECTED SHROUD PROFILE

14g SS TEK SCREW

EPDM WASHER

5mm ANGLE BRACKET

M6 CSK SCREWS

pd
BATTENS 1
(BY OTHERS)
SOLID TIMBER
(BY OTHERS)
DETAIL 02 (Side View)
SCALE: 1:5@A4
Ph: 09 972 2897 W|NDOW SHROUD
E: sales@aurae.co.nz iect- ifi i
@ Contéct Aur_ae for project SPelelC adw{lce. FIXING DETAIL
AURA W: www.aurae.co.nz Details subject to change without notice.
Making houses lookgooe,  ©2018 Alll rights reserved SHEET NO: 3.02




WEATHERBOARD - RMC BRACKET (oPTION 1)

SOLID TIMBER
(BY OTHERS)
BATTENS
(BY OTHERS)
— WEATHERBOARD CLADDING

(BY OTHERS)

—

o W e
| A |~ EPDM WASHER

S WEDGED NYLON PACKER

S~ 14g S5 TEK SCREWS

N\ REAR MOUNT CHANNEL BRACKET
10g S5 SCREWS EACH SIDE
SELECTED SHROUD PROFILE

DETAIL 01 (Plan View)

SCALE: 1:5@A4

WEATHERBOARD CLADDING

(BY OTHERS)

SELECTED SHROUD PROFILE

14g SS TEK SCREW

EPDM WASHER

WEDGED NYLON PACKER

REAR MOUNT CHANNEL BRACKET —
10g SS SCREWS EACH SIDE

BATTENS
(BY OTHERS)

—/
SOLID TIMBER
(BY OTHERS)

DETAIL 02 (Side View)

SCALE: 1:5@A4

AURA

Making houses look good.

Ph: 09 972 2897 WINDOW SHROUD
E: sales@aurae.co.nz iect- ifi i
@ Contéct Aur_ae for project SPelelC adw{lce. FIXING DETAIL
W: www.aurae.co.nz Details subject to change without notice.
©2018 All rights reserved SHEET NO: 3.03




WEATHERBOARD - ANGLE BRACKET (OPTION 2)

SOLID TIMBER

=
A

(BY OTHERS)

}/— BATTEN
(BY OTHERS)

|

WEATHERBOARD CLADDING

(BY OTHERS)

T\s

& EPDM WASHER

¥ 14g SS TEK SCREWS

[~~——— 5mm ANGLE BRACKET

[~~——— M6 CSK SCREWS

SELECTED SHROUD PROFILE

DETAIL 01 (Plan

View)

SCALE: 1:5@A4

WEATHERBOARD CLADDING

(BY OTHERS)

SELECTED SHROUD PROFILE —

149 SS TEK SCREW —_|

EPDM WASHER ——M8M8¥— |

5mm ANGLE BRACKET

M6 CSK SCREWS

BATTENS ——M |

(BY OTHERS)

SOLID TIMBER ————— |
(BY OTHERS)

DETAIL 02 (Side View)

SCALE: 1:5@A4

AURA

Making houses look good.

Ph: 09 972 2897

E: sales@aurae.co.nz

W: www.aurae.co.nz
©2018 All rights reserved

Contact Aurae for project-specific advice.
Details subject to change without notice.

WINDOW SHROUD
FIXING DETAIL
SHEET NO: 3.04




BRICK - RMC BRACKET (OPTION 1)

SRVARVERN SOLID TIMBER
(BY OTHERS)
{
‘ ~—— SPACER TUBE
L. (G

(BY OTHERS)

)il == EPDM WASHER

SELECTED SHRO

BRICK CLADDING

DETAIL 01 (Plan View)

SCALE: 1:5@A4

|
K D,i/_ BRICK CLADDING

S~ M8 COACH SCREWS WITH 60mm
MIN EMBEDMENT

N~ REAR MOUNT CHANNEL BRACKET
10g SS SCREWS EACH SIDE

UD PROFILE

(BY OTHERS)

SOLID TIMBER
(BY OTHERS)

EPDM WASHER

M8 COACH SCREWS WITH 60mm
MIN EMBEDMENT

REAR MOUNT CHANNEL BRACKET

10g SS SCREWS EACH SIDE

SPACER TUBE

SELECTED SHROUD PROFILE

- |

DETAIL 02 (Side View)

SCALE: 1:5@A4

AURA

Ph: 09 972 2897
E: sales@aurae.co.nz
W: www.aurae.co.nz

Making houses look good. ©2018 All rights reserved

Contact Aurae for project-specific advice.
Details subject to change without notice.

WINDOW SHROUD
FIXING DETAIL
SHEET NO: 3.05




BRICK - ANGLE BRACKET (oPTION 2)

SOLID TIMBER

-

(BY OTHERS)

% 14g SS TEK SCREWS

\

| EPDM WASHER

Qr BRICK CLADDING

(BY OTHERS)

——

[~———— M6 COUNTERSINK SCREWS

SELECTED SHROUD PROFILE

DETAIL 01 (Plan View)

SCALE: 1:5@A4

BRICK CLADDING

(BY OTHERS)
SELECTED SHROUD PROFILE ——— Fr————[ 7
@ @ | e

14g SS TEK SCREW

EPDM WASHER

5mm ANGLE BRACKET [ N |
M6 COUNTERSINK SCREWS —
SOLID TIMBER
(BY OTHERS) w
DETAIL 02 (Side View)
SCALE: 1:5@A4
Ph: 09 972 2897 W|NDOW SHROUD
E: sales@aurae.co.nz iect- ifi i
@ Contéct Aur_ae for project SPelelC adw{lce. FIXING DETAIL
AURA W: www.aurae.co.nz Details subject to change without notice.
Making houses lookgooe,  ©2018 Alll rights reserved SHEET NO: 3.06




METAL CLADDING - RMC BRACKET (oPTION 1)

~/7~/~

SOLID TIMBER

=]

(BY OTHERS)

METAL CLADDING

(BY OTHERS)

\ EPDM WASHER

s

CUSTOM NYLON PACKER TO SUIT
THE METAL CLADDING

S 14g 55 TEK SCREWS

[ — REAR MOUNT CHANNEL BRACKET
10g SS SCREWS EACH SIDE

SELECTED SHROUD PROFILE

METAL CLADDING

DETAIL 01 (Plan View)

SCALE: 1:5@A4

A

(BY OTHERS)

SOLID TIMBER (BY OTHERS)

EPDM WASHER

CUSTOM NYLON PACKER TO SUIT
THE METAL CLADDING

REAR MOUNT CHANNEL BRACKET
10g SS SCREWS EACH SIDE

14g SS TEK SCREW

SELECTED SHROUD PROFILE

{

DETAIL 02 (Side View)

SCALE: 1:5@A4

Ph: 09 972 2897
E: sales@aurae.co.nz
AU RAE W: www.aurae.co.nz
Making houses look good. ©2018 All rights reserved

WINDOW SHROUD
Contact Aurae for project-specific advice.
Details subject to change without notice. FIXING DETAIL

SHEET NO: 3.07




METAL CLADDING - ANGLE BRACKET (oPTION 2)

SOLID TIMBER

(BY OTHERS)

%C
/_ METAL CLADDING

(BY OTHERS)

¥ 14g SS TEK SCREWS

[~~——— 5mm ANGLE BRACKET

\K_ EPDM WASHER
CUSTOM NYLON PACKER TO SUIT
THE METAL CLADDING

[~~———— M6 CSK SCREWS

SELECTED SHROUD PROFILE

DETAIL 01 (Plan View)

SCALE: 1:5@A4

METAL CLADDING

(BY OTHERS)

SELECTED SHROUD PROFILE

14g SS TEK SCREW

EPDM WASHER

CUSTOM NYLON PACKER TO SUIT — |
THE METAL CLADDING

5mm ANGLE BRACKET ———— |

M6 CSK SCREWS

SOLID TIMBER

(BY OTHERS)

{

DETAIL 02 (Side View)

SCALE: 1:5@A4

AURA

Making houses look good.

Ph: 09 972 2897

E: sales@aurae.co.nz

W: www.aurae.co.nz
©2018 All rights reserved

Contact Aurae for project-specific advice.
Details subject to change without notice.

WINDOW SHROUD
FIXING DETAIL
SHEET NO: 3.08




CONCRETE - RMC BRACKET (OPTION 1)

- = >
. ' 4 CONCRETE WALL
< 4 4- . 4 (BY OTHERS)
<
o < | ————EPDM WASHER
L -
A4 4 7 4 .
I 1 ——
| S5 CONCRETE SCREWS
~ REAR MOUNT CHANNEL BRACKET
10g SS SCREWS EACH SIDE
SELECTED SHROUD PROFILE
DETAIL 01 (Plan View)
SCALE: 1:5@A4
/\/ 4
CONCRETE WALL i
(BY OTHERS) , '
IN S
[ N
SELECTED SHROUD PROFILE —— ° - :
| _— o 4
/ o
SS CONCRETE SCREWS ‘A N
EPDM WASHER ' B .
. [
REAR MOUNT CHANNEL BRACKET i . 4 .
10g SS SCREWS EACH SIDE A
N
{ —
DETAIL 02 (Side View)
SCALE: 1:5@A4
Ph: 09 972 2897 WlNDOW SHROUD
E: sales@aurae.co.nz iect- ifi i
@ Contéct Aur_ae for project SPelelC adw{lce. FIXING DETAIL
AURA W: www.aurae.co.nz Details subject to change without notice.
Making houses lookgooe,  ©2018 Alll rights reserved SHEET NO: 3.09




CONCRETE - ANGLE BRACKET (OPTION 2)

B ~ ) A <
) CONCRETE WALL
< 4 a- o, 4 (BY OTHERS)
< .
S < | ————EPDM WASHER
L
44 4 .
=
] —
|~ S5 CONCRETE SCREWS
\
~——— M6 CSK SCREWS
SELECTED SHROUD PROFILE
DETAIL 01 (Plan View)
SCALE: 1:5@A4
{ "
CONCRETE WALL i
(BY OTHERS) '
—_—— — ——— B b‘
SELECTED SHROUD PROFILE I_ - - BoA
@ @ —
At E
5mm ANGLE BRACKET——————]
| B
y A "~
N
4 o
AN
{ o
DETAIL 02 (Side View)
SCALE: 1:5@A4
Ph: 09 972 2897 W|NDOW SHROUD
E: sales@aurae.co.nz ject- ifi i
@ Contéct Aur_ae for project SPelelC adw{lce. FIXING DETAIL
AURA W: www.aurae.co.nz Details subject to change without notice.
Making houses lookgooe,  ©2018 Alll rights reserved SHEET NO: 3.10




AURAE

Making houses look good.

For more information or for help with your next project
call Aurae on 099722897

or visit www.aurae.co.nz




	Sheets and Views
	Window Shrouds-Cover Sheet
	Window Shrouds-1.1 Profile
	Window Shrouds-2.1
	Window Shrouds-2.2
	Window Shrouds-2.3
	Window Shrouds-3.1
	Window Shrouds-3.2
	Window Shrouds-3.3
	Window Shrouds-3.4
	Window Shrouds-3.5
	Window Shrouds-3.6
	Window Shrouds-3.7
	Window Shrouds-3.8
	Window Shrouds-3.9
	Window Shrouds-3.10
	Window Shrouds-last sheet


